
Key Factors Implications prioritization Justification of prioritization

1 That the solution meets the 
stakeholder requirements

This will mean that I will have to develop the 
solution to what the stakeholders want, not to 
what I want the solution to be

high The stakeholders control this project, if I 
was to create a solution that didn’t comply 
with the stakeholders requirements then the 
stakeholders would reject it and the solution 
would be a failure

2 That information supplied on the CD is 
accurate

Will mean that I will have to take steps to ensure 
the information that I gain is accurate so that  
the others are not mislead when they see the 
solution

medium It is crucial that most things on the CD are 
accurate, other wise the CD could be 
misleading, or illegal, however it is not 
entirely crucial that all information is exactly 
accurate and the is the reason for the 
medium prioritization

3 That the solution can be finished with 
the resources available

Means I may have to up skill so that I can use 
some of the programs that may be required to 
make the solution, or means that I may have to 
change the solution slightly if I cant do 
something as I don’t have the resources 
available

medium if I don’t have some resources easily 
available I might be able to get them from 
somewhere else, although that could be 
hard, and so the prioritization is a medium 
rating

4 That the solution doesn’t break any 
legal requirements

Means that I may not be able to do everything 
that the stakeholders want, or that I may not be 
able to use information acquired as I may break 
a law

high If legal requirements were broken when I 
made the solution then the solution wouldn’t 
be able to be distributed, and thus would be 
a failure

5 That the solution is user friendly means I may have to up skill to use other 
resources that will make the solution more user 
friendly, may mean that something's may have 
to be shown i.e. instead of just writing about 
them

low if the solution isn't user-friendly then it may 
frustrate the user, and not appeal the target 
audience, this is the only implication of this 
though, making this key factor a low priority

6 That the solution is able to be 
displayed or compatible with most 
computers 

may mean that I will have to up skill so that I 
can create a solution that is able to be displayed 
on most machines, may mean that I cant 
develop the solution how I (or the stakeholders) 
want it as it wouldn’t be combatable with most 
machines

low although this may be crucial because the 
target audience may not be able to view the 
solution, they could view it on another 
computer or download the software needed 
to view it, this means that it can be easily 
overcome and so has a low priority

7 That the solution is finished in the 
time available

may mean that I wont be able to develop all the 
solution that may be wanted in the time 
possible, will mean I will have to work more out 
of school

medium if the solution isn't completed in the time 
available then it will be a failure, however I 
can modify the final solution so that it will 
be finished in the time available making this 
key factor only a medium priority

8 That the solution appeals to the target 
audience

means I may have to do research into what the 
target audience wants, i.e. layout, content of the 
solution

high the target audience are shown in the issue, 
so that if the solution doesn’t appeal to the 
target audience then they wont use it and 
the solution will be a failure


